
Electron Configuration Patterns
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A bold atomic number indicates that an electron predicted to be in the s sublevel for the previous s section 
of the periodic table is actually in the d sublevel of the current section of the periodic table. If the bold 
number is also underlined, then two electrons predicted to be in the previous s sublevel are in the current d 
sublevel.

Corrections to predictions indicated in the above table: 4s → 3d, 5s → 4d, 6s → 5d, 7s → 6d.

E.g., the electron configuration for Cr is 1s2 2s2 2p6 3s2 3p6 4s1 3d5.

A bold symbol indicates that an electron predicted to be in the sublevel for the current section of the 
periodic table is actually in the sublevel for the next section in the table. If the bold symbol is also 
underlined, then two electrons predicted to be in the sublevel for the current section are in the next sublevel.

Corrections to predictions indicated in the above table: 4f → 5d, 5f → 6d, 6d → 7p.

E.g., the electron configuration for Pa is 1s2 2s2 2p6 3s2 3p6 4s2 3d10 4p6 5s2 4d10 5p6 6s2 4f  14 5d10 6p6 7s2 5f 2 6d1.

There are disagreements at Tc and Lr. How accurate are the ones starting with Lr?




